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F LA BEAN | B0 ZER] fia | B3 | 20 L | BERRRER| Ba | B3 | 2K N
B sz An | Am | An | FFF luowm wam | Am | Am | Ay | BRE
HEBZRHYBMEBE LI 3 —mRaE 1 5 5 1 20% 2 2 11 11 2 18%
REXEMEMEL 4 —mRaE 2 1 1 1 100% 2 3 8 8 3 38%
AN E[RmEE X EHFRE LI 3 —mRaE 2 3 3 2 67% 1 1 1 1 1 100%
BT ERERAREREEY R ME I 3 —pRAaE 2 1 1 1 100% 1 2 1 1 1 100%
&t 13 7 10 10 5 50% 6 8 21 21 7 33%
HEBLRHYBEMEELI 8 —pRAaE 4 9 9 4 44% 4 4 10 9 4 40%
HNEBARFEHEHBELIT 11 —peE 9) 12 12 6 50% 5 7 10 7 6 60%
VIEEREAKEEEEZBELH 10 —mRa 6 10 10 6 60% 4 4 11 9 4 36%
BB RELTN 12 —pReE 7 22 19 7 32% 5 5 13 11 5 38%
MRBBEEZRELIT 6 —mRa 3 4 4 3 75% 3 3 5 5 3 60%
BHSHBEERELTI 10 —mRaE 6 10 10 6 60% 4 4 8 8 4 50%
NV HEXELRE LI 6 —pRAaE 4 5 5 4 80% 2 3 2 2 2 100%
REXEMMEAMEL 15 —peeE 8 15 14 8 53% 7 7 6 6 6 100%
ANHEBAVIEEREBLAFEXEHEELIT 6 —pReE 4 8 7 4 50% 2 3 0 0 0 0%
AR (LB RB BN B ER LB AL s |—m=| 3 | 6 | 6 | 3 | 50% | 2 > | 4 | 2 | 2 | so%
HEB BT 5 —mRa 3 5 5 3 60% 2 2 4 4 2 50%
EBRVEZREL 6 —pRE 4 7 7 4 57% 2 2 6 5 2 33%
HEBEVNEBRELN 6 —mRa 4 5 5 4 80% 2 4 4 4 4 100%
EMEXBRELI 6 —mRaE 3 6 9) 3 50% 3 3 7 7 3 43%
EMEEERELIT 10 —pRAaE 6 5 3 3 60% 4 8 3 3 3 100%
Bl T2 BT 9 —mRaE 9) 20 17 6 30% 3 3 3 3 3 100%
FERRIE BT —pRAaE 5 8 4 4 50% 4 6 4 3 3 75%
e o RS S A 5 —mRaE 3 4 3 3 75% 3 6 9 8 6 67%
v 1 0 0 0 0% 0 0 0 0 0 0%
S BEELTEBNERE 5 —mRaE 3 2 2 2 100% 2 3 3 3 3 100%
SERENNREL B NEE s |—mx| 3 | 9 | 9 | 3 | 33% | 2 s | a4 | 4 | 3 | 75%
INEt 157 92 172 157 86 50% 65 82 116 105 68 59%
a5 170 0 99 182 167 91 50% 71 90 137 126 75 55%
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